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Seat No.: ________                                                      Enrolment No.______________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGG.- III

rd
 SEMESTER–EXAMINATION – MAY/JUNE- 2012 

Subject code: 330503                       Date: 30/05/2012        

Subject Name: Industrial Stoichiometry 

Time: 02:30 pm – 05:00 pm        Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is considered to be Authentic 

5. Atomic weight : K=39, S=32, O=16, N=14, H=1, C=12 

 

Q.1 (a) Convert following : (i ) 5 atm to N/m
2
    (ii) 200 Watt to HP 

                               (iii) 3 Kcal to Joule (iv) 20 Kg to Pound 

08 

 (b) Define : (i) STP (iii) Pressure (iv) Heat 06 

Q.2    

 (a) Calculate the mass of K2SO4 required to prepare 2 liter 0.25 N and 

0.5 M aqueous solutions. 

07 

 (b) Derive : Cp – Cv = R 07 

  OR  

 (b) Find value of gas constant R, take number of moles in gmmole, 

pressure in atm, volume in cm
3 

and temperature in 
0
K. Assume that 

at STP 1 gmole gas occupies 22.4 liter. 

07 

Q.3    

 (a) Define : 

i) Dry bulb temperature ii) Absolute humidity                                  

iii) Dew point               iv) Relative Humidity 

08 

 (b) Calculate the standard heat of reaction : 

4 NH3(g) + 5O2(g) → 4NO(g) + 6H2O(g) 

Enthalpy of formation ∆Hf
0 

are NH3(g)= -46.2, NO(g)= +90.3, 

H2O(g)= -241.6 KJ/gmol 

06 

  OR  

Q.3 (a) For ideal gas prove that Mole% = Volume% = Pr.% 08 

 (b) Define: 1.Limiting Component  2.Yield  3.Conversion 06 

    

Q.4    

 (a) How much heat must be added in order to raise the temperature of    

5 Kgmole water from 290 
0
K to 350 

0
K at 1 atm. Take average 

specific heat of water 1 Kcal/Kg 
0
C. 

07 

 (b) 10 Kgmole of NO2 gas is to be cooled from 250
0
C to 100

0
C. 

Calculate the quantity of heat to be removed. The molal heat 

capacity of gas : Cp =1.625 – 0.019T – 0.62 ×10
-4

 T
2 

Kcal/Kmole
0
C. 

T is absolute temperature. 

07 

  OR  

Q. 4 (a) Composition by mass of gas mixture : 

O2 :15%, CO: 5%, CO2:20 % and N2: 60 %. 

Calculate average molecular weight of gas mixture. 

07 

 (b) The coke contains 70%C, 6%H, 21% ash and 3%Moisture. If 15% 

excess air(dry) is used calculate the molar composition of flue gases 

on dry basis. 

07 
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Q.5    

 (a) Write short note on calorific values of Fuels. 06 

 (b) Groundnut seeds contain 48% oil, 45% solids and rest moisture. The 

resultant cake contains 82% solids, 3% oil and rest moisture. Find 

the percentage recovery of oil. 

08 

  OR  

Q.5 (a) A solution of ethyl alcohol (C2H5OH) containing 20% alcohol is fed 

at the rate of 1500 kg/hr to a distillation column. The top contains 

95% alcohol. The residue contains 4% alcohol. Calculate percentage 

loss of alcohol in residue. 

06 

 (b) Define following  

(1) Latent heat            (2) Enthalpy  

(3) Heat of formation  (4) Heat of reaction 

08 

 

************ 

 

Rö}dî>Rö}dî>Rö}dî>Rö}dî>==== s= �પાતંર કરો : (i ) 5 વાતા. � 
�ટનુ ુ /મી2 (ii) 200 વોટ � હોુ .પા. 

                     (iii) 3 ક�લોકલર� � �લ� ુ ૂ    (iv) 20 ક��ા � પા�ડુ .=

08 

 ^= �યા!યા આપો : (i) STP (ii) દબાણ (iii) ગરમી= 06 

 = =  

Rö}dîwRö}dîwRö}dîwRö}dîw==== s= 2લીટર 0.25N અને 0.5M જલીય ,ાવણ બનાવવા માટ જ�ર��  

K2SO4 નો જ-થો ગણો.=

07 

 ^= તારવો : Cp – Cv = R= 07 

  svgcsvgcsvgcsvgc=  

 ^= વા� અચળાકં  ુ R ની ક1મત ગણો. મોલ સ!ંયા �ામમોલમા,ં દબાણ 

વા4ાવરણમા,ં કદ સેમી3મા,ં તાપમાન 0ક� મા ંલો. ધારોક � STP એ 1 

�ામમોલ વા� ુ22.4 લીટર કદ ધરાવે છે. 

07 

Rö}dî@Rö}dî@Rö}dî@Rö}dî@==== =   

 s= �યા!યા આપો : i) 9કા ગોલક� તાપમાનુ ુ  ii) િનરપે; <ભનાશ                                  

iii) ?સ બ1@ુ iv) સાપે; <ભનાશ 

08 

 ^= Aમા<ણત ABCયા ઉEમા ગણો : 
4 NH3(g) + 5O2(g) → 4NO(g) + 6H2O(g) 

બધંારણ ઉFG ∆Hf
0 : NH3(g)= -46.2, NO(g)= +90.3, 

H2O(g)= -241.6 ક�લો�લૂ /�ામમોલ 

06 

 = svgcsvgcsvgcsvgc  

Rö}dî@Rö}dî@Rö}dî@Rö}dî@==== =   

 s= આદશG વા� માટ સાબીત કરો ુ � : મોલ% = કદ% = દબાણ% 08 

 ^= �યા!યા આપો : 1. મયાGBદત ઘટક  2. પેદાશ  3. �પાતંર 06 

Rö}dîARö}dîARö}dîARö}dîA==== =   

 s= 5 ક�લોમોલ પાણી� તાપમાન ુ 1 વાતાવરણના દબાણે 290 
0
K to 350 

0
K 9ધી વધારવા માટ કટલી ગરમી ઉમેુ � � રવી પડ�? પાણીની સરરાશ �

િવિશEટ ઉEમા 1 ક�લોકલર�� /ક��ા0સે. છે. 

07 



Page 3 of 3 

 ^= 10 ક��ા મોલ NO2 વા�ને ુ 250
0
C થી 100

0
C 9ધી ઠંડો પાડવાનો છેુ . 

@ર કરવી પડતી ગરમીનો જ-થો ગણોૂ . વા�ની મોલાલ ઉEમીય ુ

;મતા: Cp =1.625 – 0.019T– 0.62 ×10
-4

 T
2 ક�લોકલર�� /ક�લોમોલ0સે 

T  િનરપે; તાપમાન છે. 

07 

 ==== svgcsvgcsvgcsvgc  

Rö}dîARö}dîARö}dîARö}dîA==== =   

 s= વા� િમMણના ંદળ ુ આધાર�ત સઘંટકો : 

O2 :15%, CO: 5%, CO2:20 % અને N2: 60 %. 

વા� િમMણનો સરરાશ પરમાNભાર શોધોુ � ુ . 

07 

 ^= કોક 70%C, 6%H, 21% એશ અને 3% ભેજ ધરાવે છે. જો 15% 

વધારાની હવા(9ક�ુ ) નો ઉપયોગ કરવામા ંઆવે તો PEકુ  QR ુ

વા�ઓની મોલ આધાર�ત ુ સરંચના શોધો. 

07 

Rö}dîRRö}dîRRö}dîRRö}dîR==== =   

 s= બળતણની કલોર�ફ�ક વેU� પર Vંક નWધ લખો� ુ ુ . 06 

 ^= મગફળ�ના ંદાણાઓ 48% ઓઇલ, 45% ઘનપદાથG અને બાક�નો ભેજ 

ધરાવેછે. તેમાથંી બનેલી કઇક�   82% ઘનપદાથG, 3% ઓઇલ અને 

બાક�નો ભેજ ધરાવેછે. ઓઇલની AાZતીના ંAિતશત શોધો. 

08 

 = svgcsvgcsvgcsvgc  

Rö}dîRRö}dîRRö}dîRRö}dîR==== =   

 s= 20% આUકોહોલ ધરાવ4ા ઇથાઇલ આUકોહોલના ં,ાવણને 

1500ક��ા/કલાક ના દર િનEયદંન કોલમમા ંમોકલવામા ંઆવે�  છે. 

ટોચેથી મળતી િનપજ 95% આUકોહોલ ધરાવે છે. તળ�યાની િનપજ 

4% આUકોહોલ ધરાવે છે. આUકોહોલ નો તળ�યાની નીપજમા ંથતો 

Aિતશત �યય શોધો. 

06 

 ^= �યા!યા આપો : (1) ^Zત ઉEમાુ      (2) _થાUપી  

                         (3) બધંારણ ઉFG  (4) AC�યા ઉFG 

08 

 

************ 

 


